$BE, RBREHT. ZLEBEDHEES |

HA U ML

b < }z_, :}b;zbn_jw & AL
h¢ =
A&?— aCiE
o 55 5FFAK  AFAK =LA
> 8 B R EREEE:
OR/Of| Of/ 01| OR/ O
1. £6B->TED? AR B| A HBH| A H
DTt aonsccan: 6 = 8 = 85 .
2. LFIDOME (1) AR B| A HB| A H
......... 12 T % 9% = 8
3. LeFIOHE (2) A H A H A H
......... 18 5/ 8m % 8% = 8
4. HploOHE (3) A H A H A H
......... 24 % O 5 O 5 O
5. IO (1) A H A H A H
......... 30 ,.5“/8,#\ “.-:\.—\/8“5“ ,'5“/8“-5\
6. LEHIDR (2) A H A H A H
......... 36 “5“/9,#\ ,;-E/Q,ﬁ“ ,'.5“/8,#\
7. EBIDSIST (1) AR B| A BH| A H
......... 49 “5“/4“5“ “5“/4“5“ ,‘5‘\/4,%
8. HEnsS7 (2) AR B| A HB| A H
""""" 48| = 5x| =m/5x| =/6=
4

52720 AFAN  FLH®

F2EAA =B H | *8¥H | 2FTA
Or/Of| O/ 0Oxr| O&a/0O&

9. HBIDOXERE (1) AR ®] A BH| A BH
""""" M m 0m | m10R| &m0

10. LEIOXELE (2) AR ®| A HB| A BH
""""" 60| = 8=| =/ /8%| = /8=

11. REEFIOME (1) A H A H A H
""""" 66| = 9=| =/92| &/8%

12. REtBIOMHE (2) A H A H A H
""""" 12| =/8x| =/85| &/9%

13. RLLBIDOME (3) A ®| A HB| A BH
""""" B =95 =m/9%| =/8%

14. REIFIDOR AR HB| A H| B BH
""""" 84| = 8x| A /8x| s /8m

15. RELBIDT ST AR B A B| A H
......... 90 o3 . .

16. REFHIDTERE AR B| B B| A H
""""" B = 13=| =& 183%| =13

5




